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as vb

as vb
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10°
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z f(z,Q)

500

xf v5, flav = g,
xfvh;flav = g,

xf v5, flav = g,

400

xfv5, flav = g,

xfv5,flav = g,

300

200

100

q=10
q=>50
q=1x10?
g=2 x10?

q=5x10?

=g, ¢=1x10°

, q=2x10°

, q=5x10°

xf v6,

xf v6

xf v6,

xf v6,

xf v6

xf v6,

xf v6,

xf v6,

flav = ¢, ¢=10
, flav = g, ¢=50
flav = g, ¢=1 x10?

flav = g, =2 x10?

, flav = g, ¢=5 x10*

flav = g, ¢=1 x10°
flav = g, =2 x10°

flav = g, ¢=5 x10°

10
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10

- xfacc, flav = g, ¢=10
I xfacc, flav = g, ¢=50
— xfacc, flav = g, ¢=1 x10?
xfacc, flav = g, ¢=2 x10?
10'3 R R R R L P L P E P R P TP TPRTPERPERS ﬁ ......
/\ R
10* |
10'5 -10. ...I- " ..I- L ..I- L ..I- " ..I-
10 10 10 10 10 10

MR | N L

xfacc, flav = g, ¢=5 x10?
xfacc, flav = g, ¢=1 x10°
xfacc, flav = g, ¢=2 x10°

xfacc, flav = g, ¢=5 x10°




""" xfv6, flav = g, £ =1 x107%

— xfvs flav=yg, z= z=1x10"°

_—~ xfv5, flav = g, x=0.0001 """ xf v6, flav = g, x =0.0001
xf v5, flav = g, =0.01 xf v6, flav = g, 2 =0.01

— xfv5, flav=g, z=01 "7 xf v6, flav = g, =0.1

I xfvh, flav=yg, =02 . 7777 xf v6, flav = g, x=0.2

F — xfvs, flav=g, z=05 " xfv6, flav = g, x=0.5 E
xf v5, flav = g, z=0.8 xf v6, flav = g, x=0.8
l | l
0 10 10° 10° 10



|fo—1f51/(1f5] +e€)

10 T T T
xfacc, flav = g, 2 =1 x107% — xfacc, flav = g, £ =0.1
xfacc, flav = g, £ =1 x1075 E— xfacc, flav = g, 2=0.2
xfacc, flav = g, x =0.0001 I xfacc, flav = g, z=0.5
xfacc, flav = g, z=0.01 xfacc, flav = g, 2 =0.8
4 _
10
-5 1|ll . -
10 ' 2 ' m
10 10 10 10 10



16

xfv5, flav = d, ¢=10

14

xf v5, flav = d, ¢=50

xf v5, flav = d, ¢=1 x10?

12

xfv5, flav\= d, ¢=2 x10>

10

xf v5, flay\= d, ¢=5 x10?
xf v5, fla d, =1 x10°
xf v5, fla d, ¢=2 x10°

xf v5, flav\=\d) g =5 x10°

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

flav = d, ¢=10
flav = d, ¢=50
flav = d, g=1 x10?

flav = d, ¢=2 x10?
flav = d, ¢=>5 x10?
flav = d, g=1 x10°
flav = d, ¢=2 x10°

flav = d, ¢=>5 x10°
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10

10

xfacc, flav = d, ¢=10

xfacc, flav = d, ¢=>50

xfacc, flav = d, =1 x10?

xfacc, flav = d, =2 x10?

B ——

—

—_——

xfacc

xfacc

xfacc

xfacc

MR |
, flav = d, ¢=5 x10?
, flav = d, ¢=1 x10°
, flav = d, ¢=2 x10°

, flav = d, ¢=5 x10°




10° . . . .
1
107 F
0
10" F
—
<
510 |
g
S
""" z=1x10"%
— xfv5, flav=d, z=1x10"% xfv6, flav = d, =1 x10"
2 L |
1 0 — xfv5, flav = d, z=0.0000 " °°° xf v6, flav = d, =0.0001 ]
xf v5, flav = d, 2 =0.01 xf v6, flav = d, x=0.01
— xfvs, flav=d, z=01 0 xfv6, flav = d, =0.1
-3
1 0 S xfvs, flav=d,z=02 xfv6, flav = d, £=0.2 E
I xfvb, flav=d,z=05 777 xfv6, flav = d, z=0.5
xfv5, flav = d, 2 =0.8 xf v6, flav = d, z=0.8
10 0 I 1 I 2 I 3
10 10 10 10 10

Q
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10

L
xfacc, flav = d,
xfacc, flav = d,
xfacc, flav = d,

xfacc, flav = d,

z=1x10"%

z=1x10"°

x=0.0001

x=0.01

xfacc, flav = d,
xfacc, flav = d,
xfacc, flav = d,

xfacc, flav = d,

z=0.1

x=0.2

z=0.5

z=0.8

10

10

10



16

xf v5, flav = d, ¢=10

14

xf v5, flav = d, ¢=50

xf v5, flav = d, ¢=1 x10?

12

xfv5, flav\= d, ¢=2 x10>

xf v5, flay\= d, ¢=5 x10?

10

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

flav = d, ¢=10
flav = d, ¢=50
flav = d, g=1 x10?

flav = d, ¢=2 x10?

flav = d, ¢g=>5 x10?

— xf v5, fla d, g=1x10>° xfv6, flav = d, =1 x10°
i — xf v5, fla d, g=2x10° xf v6, flav = d, ¢=2 x10° ]
xf v5, flav\=\d) g =5 x10* xf v6, flav = d, ¢=5 x10°
. Ll . Ll . ol . ol 1 . . 1 . ol . | . Pl o 1 =
-10 -9 -8 -7 - -5 -4 -3 -2 -1
10 10 10 10 10 10 10 10 10 10



|fo—1f51/(1f5] +e€)

L I I B L B R S B |
xfacc, flav = d, ¢=10 xfacc, flav = d, ¢=5 x10?
xfacc, flav = d, ¢=50 xfacc, flav = d, ¢g=1 x10*
xfacc, flav = d, ¢=1 x10° xfacc, flav = d, ¢=2 x10°

xfacc, flav = d, ¢=2 x10? xfacc, flav = d, ¢=>5 x10°

— =

107 10% 10




10% . . .
1
107 F
0
10 F
—
< 4
2107 E
=
= fav—=—-ds=1x10"°
xfv5, flav=d, z=1x10"% xf v6, flav = d, =1 x10"6
-2 B i
107 ¢ xfv5, flav = d, z=0.0001 77" xf v6, flav = d, =0.0001 ]
xfv5, flav = d, ©=0.01 xfv6, flav = d, 2=0.01
xfvs, flav=d, z=01 77 xfv6, flav = d, =0.1
-3
107 ¢
xfv5, flav = d, =0.8 xf v6, flav = d, =0.8
-4 . . .
10 l 1 l 2 l
10 10 10 10 10
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10

L
xfacc, flav = d,
xfacc, flav = d,
xfacc, flav = d,

xfacc, flav = d,

z=1x10"%

z=1x10"°

x=0.0001

z=0.01

xfacc, flav = d,
xfacc, flav = d,
xfacc, flav = d,

xfacc, flav = d,

z=0.1

z=0.2

z=0.5

z=0.8

10

10

10



16

xf v5, flav = u, ¢=10

14

xf v5, flav = u, ¢=50

xf v5, flav = u, ¢=1 x10>

12

10

xf v5, flav\= u, ¢=2 x10?
xf v5, flay\= u, ¢=5 x10?
xf v5, fla u, g=1x10°
xf v5, fla o, ¢=2 x10°

xf v5, flav\=\u) \g =5 x10°

xf v6,

xf v6

xf v6,

xf v6,

xf v6

xf v6,

xf v6,

xf v6,

flav = u, ¢=10

, flav = u, ¢=50

flav = u, ¢=1 x10?

flav = u, ¢=2 x10?

, flav = u, ¢=>5 x10?

flav = u, ¢=1 x10°
flav = u, ¢=2 x10°

flav = u, ¢=5 x10°
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xfacc, flav = u, ¢=10 — xfacc, flav = u, ¢=5 x10?
xfacc, flav = u, ¢=50 xfacc, flav = u, ¢=1 x10*
xfacc, flav = u, ¢=1 x10> xfacc, flav = u, ¢=2 x10°

xfacc, flav = u, ¢=2 x10? xfacc, flav = u, ¢=5 x10°

—_—

——

1090 10% 10



z f(z,Q)

10 3 o L o E
10"
10° ;
1 xfv5, flav=u, =1 x10 & ——__" """ xf v6, flav = u, 2 =1 x10~%
1 0 _ xfv5, flav=u, z=1x10"¢% xfv6, flav = u, z =1 x10" _
[ xfv5, flav = w, z=0.0001 """ xf v6, flav = u, =0.0001
L xf v5, flav = u, z=0.01 xf v6, flav = u, z=0.01
1 0-2 B xfwv5, flav =w, z=01 xf v6, flav = u, £=0.1 i
xfvb, flav=w,z=02 77" xf v6, flav = u, =0.2
I xfvb, flav=w, z=05 7% xf v6, flav = u, 2=0.5
[ xf v5, flav = u, 2=0.8 xf v6, flav = u, z=0.8 i
10'3 | | |
10 10' 10° 10 10

Q
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™ T — T T T
xfacc, flav = u, z=1x10"%
xfacc, flav = u, z=1x107°
xfacc, flav = u, 2=0.0001

xfacc, flav = u, r =0.01

xfacc, flav = u, 2 =0.1
xfacc, flav = u, r=0.2
xfacc, flav = u, =0.5

xfacc, flav = u, r=0.8

10

102 10

10



16

xf v5, flav = 4, ¢=10

14

xf v5, flav = 4, ¢=>50

xf v5, flav = @, ¢=1 x10>

12

10

xf v6,

xf v6

xf v6,

flav = 4, ¢=10

, flav = 4, ¢=50

flav = @, ¢=1 x10?

xfv5, flav\= @, ¢=2 x10? xf v6, flav = 4, ¢=2 x10?
— xfv5, flav\= @, ¢=5 x10> xf v6, flav = @, ¢=5 x10?
— xf v5, fla @, ¢g=1x10° xf v6, flav = @, ¢=1 x10°
i — xfv5, flay £\, ¢=2x10>° xf v6, flav = @, ¢=2 x10° ]
xf v5, flav\=\u) \g =5 x10° xf v6, flav = @, ¢=5 x10°
N\
. Ll . Ll . Ll . Ll 1 . . 1 . Ll . o Pl -
-10 -9 -8 -7 - -5 -4 -3 -2 -1
10 10 10 10 10 10 10 10 10 10
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10- ™ ™ ™ ™ T T ™ T T
e xfacc, flav = @, ¢=10 — xfacc, flav = @, ¢=5 x10?
—— xfacc, flav = @, ¢=50 — xfacc, flav = @, ¢=1 x10°
— xfacc, flav = @, ¢=1 x10> — xfacc, flav = @, ¢=2 x10°
xfacc, flav = @, ¢=2 x10? xfacc, flav = @, ¢=5 x10°
\
-
10* | S .
\
A
N o
r\ |
10'5 N —al " —al " —al " —al " | N .h. . — " M | | . 1 . —
10" 10° 10® 107 10° 10° 10* 10° 10% 10" 10



z f(z,Q)

™ ™ ™
1
10" 1 E
B
-1
10 .
-3
107 =
-5
107 )
-7
10° N
-9
10" )
-11
10" | 1
-13 | |
1 0 xfv5, flav =4, z=1x10"% " xfv6, flav = 4, z=1 x10~%
1 0_15 B xfv5, flav =@, 2=1x10"°% xfv6, flav =@, z=1x10"%
xfv5, flav = 4, x=0.0001 "¢ xf v6, flav = 4, =0.0001
-17 | a
10
xf v5, flav = @, =0.01 xf v6, flav = 4, 2 =0.01
-19
10 B xfv5, flav=14, =01 xf v6, flav = @, z=0.1 T
1 0—21 B xfvs, flav=a, =02 " xf v6, flav = @, £=0.2 ]
xfv5, flav =4, 2=05 7" xf v6, flav = 4, £ =0.5
10-23 | |
xf v5, flav = 4, 2=0.8 xf v6, flav = 4, £ =0.8
-25 . . .
10 l l 2 l 3
10 10 10 10 10
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™ T — T T T
xfacc, flav = 4, z=1x10"%
xfacc, flav = 4, z =1 x107°
xfacc, flav = 4, 2=0.0001

xfacc, flav = 4, r =0.01

xfacc, flav = 4, =0.1
xfacc, flav = 4, r =0.2
xfacc, flav = 4, r=0.5

xfacc, flav = 4, r =0.8

10

102 10

10
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14

12

10

xf v5, flav = s,

xf vb, flav = s,

xf v5, fl

xfv5, flal

xf v5, fl.

xf x5 _fla

xfv5, fl

xf v5, fla

q=10
q=50
, =1 x10?
, q=2 x10?
, =5 x10?
, g=1x10%

, g=2x10°

xf v6,

xf v6

xf v6,

xf v6,

xf v6

xf v6,

xf v6,

flav = s, ¢=2 x10?

flav = s, ¢=1 x10°
flav = s, ¢=2 x10°

flav = s, ¢=5 x10°

flav = s, ¢=10
, flav = s, ¢=50
flav = s, ¢=1 x10?

, flav = s, ¢=>5 x10?
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xfacc, flav = s, ¢=10 xfacc, flav = s, ¢=5 x10?
xfacc, flav = s, ¢=50 xfacc, flav = s, ¢=1 x10°
xfacc, flav = s, ¢=1 x10? xfacc, flav = s, ¢=2 x10*

xfacc, flav = s, ¢=2 x10> xfacc, flav = s, ¢=5 x10*
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—

107 10% 10 10° 10> 10* 10° 10° 10



10° ¢ - - -
1
107 F
0
107 F
—
<
810" F |
15
e xfvs, flav=s, z=1x10"* " xf v6, flav = s, z =1 x10"°
— xfv5, flav =s, =1 x10"° Xt V6 flav="—s;7—=1>30=C
2 L |
1 0 s — xfv5, flav = s, z=0.0001 """ xf v6, flav = s, £ =0.0001 ]
xf v5, flav = s, 2=0.01 xfv6, flav = s, £=0.01
— xfvb, flav=s,z=01 """ °° xfv6, flav = s, £=0.1
-3
1 0 F xfvs, flav=s,2z=02 xfv6, flav = s, =0.2 E
I xf v5, flav = s, z=0.5
xf v5, flav = s, 2=0.8 xfv6, flav = s, 2=0.8
10-4 Ll L Ll 2
10 10 10 10 10
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10

L
xfacc, flav = s,
xfacc, flav = s,
xfacc, flav = s,

xfacc, flav = s,

z=1x10"%

z=1x10"°

z=0.0001

z=0.01

xfacc

xfacc

xfacc

xfacc

, flav = s,
, flav = s,
, flav = s,
, flav = s,

z=0.1

=0.2

x=0.5

x=0.8

10

10

10



16

xfv5, flav =3, ¢=10

xf vb, flav =3, ¢=50

14

xf v5,

xfvd

12

xf v5,

xfus

10

xf v5,

xf v5,

xf v6,

xf v6

flav =3, ¢=10

, flav =35, ¢=50

q=1 x10?
q=2 x10?
, g=5x10?
q=1x10°
, q=2x10°

q=5x10°
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xfacc, flav =3, ¢=10 xfacc, flav = 3, ¢=5 x10?
xfacc, flav =5, ¢=50 xfacc, flav = 5, ¢=1 x10°
xfacc, flav = 5, ¢=1 x10? xfacc, flav = 3, ¢=2 x10*

xfacc, flav = 5, ¢=2 x10> xfacc, flav = 5, ¢=5 x10°
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107 10% 10 10° 10> 10* 10° 10° 10
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1
107 F
0
107 F
—
<
810" F |
15
e xfvs, flav=7s, z=1x10"% "' xfv6, flav =35, 2 =1 x10"°
— xfv5, flav=s, 2=1x10"° Xt V6 flav==;7—=1>30=C
2 L |
1 0 s — xfv5, flav =35, z=0.0000 """ xf v6, flav = 5, £ =0.0001 ]
xf v5, flav = 35, 2=0.01 xfv6, flav =3, £=0.01
— xfvb, flav=3s 2=01 "7 xfv6, flav =73, £=0.1
-3
1 0 F xfvs, flav=3 =02 xfv6, flav = 3, 2 =0.2 E
I xf vb, flav = 3,
xf v5, flav = 35, =0.8 xfv6, flav =3, 2=0.8
1 0-4 Ll L Ll 2
10 10 10 10 10
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L
xfacc, flav =3,
xfacc, flav =3,
xfacc, flav =3,

xfacc, flav =3

z=1x10"%

z=1x10"°

z=0.0001

, ©=0.01

xfacc

xfacc,
xfacc,

xfacc,

, flav =3,
flav =73
flav =3
flav =3

z=0.1

s, £=0.2

5, =05

, =08

10

10

10
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14

xf v5, flav = ¢,

xfv5, flav = ¢,

12

10

xfv5, flav = ¢
xfvb, flav = ¢,
xf v5, =c
xf v5, =c,
xfv5, ¢

xf v5,

q=10

q=>50

, q=1 x10>

g=2x10?

, ¢=5 x10°

q=1x10°

, ¢=2x10°

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

flav = ¢, ¢=10
flav = ¢, ¢=50
flav = ¢, g=1 x10?

flav = ¢, ¢=2 x10?
flav = ¢, ¢g=5 x10?
flav = ¢, =1 x10°
flav = ¢, ¢=2 x10°

flav = ¢, =5 x10°
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xfacc, flav = ¢, ¢=10 xfacc, flav = ¢, ¢=>5 x10?
xfacc, flav = ¢, ¢=50 xfacc, flav = ¢, =1 x10°
xfacc, flav = ¢, =1 x10? xfacc, flav = ¢, ¢=2 x10°

xfacc, flav = ¢, ¢=2 x10? xfacc, flav = ¢, =5 x10°

——
———
|
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1
10" f
0
10" f
-1
10 F
—
<
2107
15
xfv5, flav=rc, z=1x10"* " xf v6, flav = ¢, z=1x10"*
1 0_3 - xfv5, flav=c, z=1x10"" xfv6, flav =c, =1x10"% -~
xfv5, flav = ¢, z=0.0000 """ xf v6, flav = ¢, =0.0001
4 xf v5, flav = ¢, =0.01 xf v6, flav = ¢, =0.01
10 " F i
xfvs, flav=¢, =01 "0 xf v6, flav = ¢, =0.1
5 xfvb, flav=yc¢ 2z=02 "7 xf v6, flav = ¢, 2=0.2
1 0 xfvs, flav=¢, =05 " xfv6, flav = ¢, £=0.5 ]
xfv5, flav = ¢, =0.8 xf v6, flav = ¢, 2=0.8
-6 . . .
10 l l 2 l 3
10 10 10 10 10
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ML
xfacc, flav = ¢,
xfacc, flav = ¢,
xfacc, flav = ¢,

xfacc, flav = ¢,

z=1x10"°

z=1x10"°

z=0.0001

x=0.01

xfacc

xfacc

xfacc

xfacc

, flav = ¢,
, flav = ¢,
, flav = ¢,
, flav = ¢,

z=0.1

xr=0.2

r=0.5

r=0.8

10

10

10
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14

xf v5, flav = ¢,

xfv5, flav = ¢,

12

xf v5,

xf v5,

xf v5,

xf v5,

10

xf v5,

xf v5,

g=10

g=50 e

xf v6,

xf v6,

flav =¢, ¢=10

flav = ¢, ¢=50
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xfacc, flav = ¢, ¢=10 xfacc, flav = ¢, ¢=>5 x10°
xfacc, flav = ¢, ¢=50 xfacc, flav = ¢, =1 x10°
xfacc, flav = ¢, ¢=1 x10? xfacc, flav = ¢, ¢=2 x10°

xfacc, flav = ¢, ¢=2 x10? xfacc, flav = ¢, ¢=>5 x10°
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———
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e xfv5, flav=r¢, z=1x10"* " xf v6, flav = ¢, z=1x10"%

— xfv5, flav=¢, z=1x10"% xfv6, flav =7¢, =1x10"% -~

— xfv5, flav =¢, z=0.0000 """ xf v6, flav = ¢, ©=0.0001
xfv5, flav = ¢, 2=0.01 xf v6, flav = ¢, 2 =0.01 ]

— xfvs, flav=¢, =01 " xf v6, flav = ¢, 2 =0.1 1

xfv5, flav = ¢, 2=0.2 xf v6, flav = ¢, 2 =0.2

xfv5, flav =¢, 2=0.5 xf v6, flav =¢, 2=0.5

xfv5, flav = ¢, £ =0.8 xf v6, flav = ¢, 2=0.8
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xfacc, flav = ¢,
xfacc, flav = ¢,
xfacc, flav = ¢,

xfacc, flav = ¢,

z=1x10"°

z=1x10"°

z=0.0001

x=0.01

xfacc

xfacc,
xfacc,

xfacc,

, flav =¢,
flav=¢
flav =¢
flav =¢

z=0.1

e, =0.2

¢, ©=0.5

2, ©=0.8

10

10

10
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14
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xfv5, flav = b, ¢=10
xfv5, flav = b, ¢=50

xf v5, flav = b, ¢=1 x10?

12

xf v5, flav = b, ¢=2 x10?

xf v5, flay = b, ¢=5 x10?

10

xf v5, = b, g=1x10°

xf v5, , ¢=2x10°

xf v5, , ¢=5x10°

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

xf v6,

flav = b, ¢=10

flav = b, ¢=50

flav = b, g=1 x10?
flav = b, ¢=2 x10?
flav = b, ¢=5 x10?
flav = b, =1 x10°
flav = b, ¢=2 x10°

flav = b, =5 x10*




|fo—1f51/(1f5] +e€)

L e L L L B
xfacc, flav = b, ¢=10 xfacc, flav = b, ¢=>5 x10?
xfacc, flav = b, ¢=50 — xfacc, flav = b, ¢=1 x10°
xfacc, flav = b, ¢=1 x10? xfacc, flav = b, =2 x10°

xfacc, flav = b, ¢=2 x10? xfacc, flav = b, ¢=>5 x10°

B —
— D

B— i —

10 10%  10% 10



z f(z,Q)

flav = b, 2=1x10"%
flav = b, 2=1x10"%
xf v5, flav = b, =0.0001
=0.01

=0.1

xf v5, flav = b,

xf vb, flav = b,

..... xf v6, flav = b, z =1 x10"°
...... xf v6, flav = b, z =1 x10"°
..... xf v6, flav = b, z=0.0001
xf v6, flav = b, =0.01
...... xf v6, flav = b, z=0.1

xf v6, flav = b, =0.2

xf v6, flav = b, z=0.5

xf v6, flav = b, 2 =0.8

10

10



|fo—1f51/(1f5] +e€)

10

10

10;

L
xfacc, flav = b,
xfacc, flav = b,
xfacc, flav = b,

xfacc, flav = b,

z=1x10"%

z=1x10"°

z=0.0001

z=0.01

- xfacc
I xfacc
I xfacc

xfacc

, flav =0,
, flav = b,
, flav = b,

, flav = b,

z=0.1

r=0.2

r=0.5

r=0.8

10

10




16

14

12

10

xfv5, flav = b, ¢=10 xf v6, flav = b, ¢=10
N - xfvs, flav=">0,¢q=50 "7 xf v6, flav = b, =50 ]
— xfv5, flav = b, g=1x10> "t xf v6, flav = b, ¢=1 x10?
xf v5, flav = b, ¢=2 x10? xf v6, flav = b, =2 x10°
i ——  xfv5, =0, ¢g=5x10> xf v6, flav = b, g=5 x10?
— xf v5, =b,qg=1x10° xf v6, flav = b, ¢=1 x10°
I — xf v5, =0, ¢g=2x10>° xf v6, flav = b, ¢=2 x10° ]
xf v5, , =5 x10% xf v6, flav = b, ¢=5 x10°
L | L | L | L | L — L L N L L
1107 10° 107 10° 10° 10* 10°  10® 100 10



|fo—1f51/(1f5] +e€)

L e L L L B
xfacc, flav = b, ¢=10 xfacc, flav = b, ¢=>5 x10?
xfacc, flav = b, ¢=50 xfacc, flav = b, g=1 x10°
xfacc, flav = b, =1 x10? xfacc, flav = b, =2 x10°

xfacc, flav = b, ¢=2 x10? xfacc, flav = b, ¢=>5 x10°

B —
— D

B— i —

10 10%  10% 10



z f(z,Q)

1 02 u il ™ il
. I
10" F E
0l i
107 F ]
-1 1
10" F ]
2 1
10° F ]
3L i
107 ¢ b, z=1x10"% vt xfv6, flav =b, =1x10"% ]
i ,z=1x10"% e xf v6, flav = b, 2 =1 x10"5
4 N _
1 0 [ N xfv5, flav = b, =0.0001 7" xf v6, flav = b, £ =0.0001 ]
: , £ =0.01 xf v6, flav = b, z=0.01
-5 i
1 0 2 =01 xfv6, flav = b, ©=0.1 E
flav =10, z\=02 7" xfv6, flav = b, =0.2
-6
10 F flav="5,z+05 7 xfv6, flav = b, 2=0.5 B
flav = b, = O.f\ xf v6, flav = b, =0.8
-7 . .
10 - '
10 10 10 10 10
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10

10

10;

ol
xfacc, flav = b,
xfacc, flav = b,
xfacc, flav = b,

xfacc, flav = b,

z=1x10"%

z=1x10"°

x=0.0001

z=0.01

10

o
— xfacc, flav = b, =0.1
- xfacc, flav = b, =0.2
I xfacc, flav = b, ©=0.5
xfacc, flav = b, =0.8
|
3

10 10



